10.
11.
12.
13.
14.
15.
16.
17.

18.
19.
20.

21.
22.
23.

24.

25.

26.

27.
28.

11=2x-3/x-1
Yx+13-/x+6 =1
X=6—-+/x
V3x+1=1+42x-1
1=2x-34x-7
x-2:/x-1=4
VBX +4=2x+1
Jy2x+1-3=yx-8
Jx+5 -1=+/x
x—-+2x-1=2
Yx+5=2
Vx+1 +Jx-6 =7
2x-13Jx -15=0
9(1-x) = 3\/1+ (3~ 4F +x*
x—m:l—x
X—47-3x =1
4aifa =32

3

w
W
By
\I

(Soluc: x=10)
(Soluc: x=3)

(Soluc: x=4)

(Soluc: x1=1; x»=5)
(Soluc: x1=2; x»=8)
(Soluc: x=10)
(Soluc: x=1)

(Soluc: x1=12; xo=24)
(Soluc: x=4)

(Soluc: x=5)

(Soluc: x=3)

(Soluc: x=15)
(Soluc: x=225/4)

( Osoluc)

(Soluc: x1=1; x2=1/2)
(Soluc: x=2)

(Soluc: a=4)

(Soluc: x=0)

(Soluc: Osoluc )

(soluc: x=(14/9)%)

(Soluc: x1=5; x2=13/9)

29

30

31

32.

33

34.

35

36.

37.

38
39
40

41.

42
43
44
45
46
47

2

.H:L

a
. Ja =8
N2x+7-20x =1
X—47-3x =1
CfX-1+1=x-2
Vx+5+/x =5
.MHZX
2x-3x-5=4
JX+2+x=3x-2
 N7T+2x—3+x =1
CAX+7-1=x
. Ix+5+y2x+8=7
J2x+xE -x-2=0
cWx+4+x-1=3
. x+23=/ax+1+2
cx-2=+x-8
cV2x-3-x+7=4

L A2X+5 =4x+2 =1

. \/2X+3:1+\/X+1
48. \J4x-3 -x+1=1
49, J2x+3 -/x-2=2

(Soluc: x1=0; x»=a)

(Soluc: a=4)
(Soluc: x=1)
(Soluc: x=2)
(Soluc: x=5)
(Soluc: x=4)
(Soluc: x=5)
(Soluc: x=3)
(Soluc: x=2)
(Soluc: x1=1; xo=-3)
(Soluc: x=2)
(Soluc: x=4)
(Soluc: x=2)
(Soluc: x=13/9)
(Soluc: x=2)
(Soluc: x=9)
(Soluc: x=114)
(Soluc: x=#2)
(Soluc: x1=-1; x2=3)
(Soluc: x=3)

(Soluc: x1=3; x2=11)





